18 BIE A HIR D 2023418158 (H)

EHRIILTERE
[ — IR ] [ =7 LTA4RDE ]
JB4L K % NET HDCP TOTAL ouUT N OUT NET [[=tiva K £ NET HDCP TOTAL ouUT | N OUT NET
B B ES AR 69 14 83 (43 40 ) 360 BB KT IR 69 15 84 (42 42 ) 345
200 A BEtE 71 15 86 ( 43 43 ) 355 2067 MW AR 73 16 89 ( 42 47 ) 34.0
3 Ak E 72 12 84 (43 41 ) 370 3z WM AR 73 13 86 ( 43 43 ) 365
AL = £5T) 72 15 87 ( 45 42 ) 37.5 46 R E 73 16 89 ( 45 44 ) 37.0
56 AREHABE 712 7 79 (43 36 ) 39.5 57 AR E 74 27 101 ( 50 51 ) 36.5
6 EM SRR 73 1 74 ( 3 38 ) 355 6l A e 75 14 89 (44 45 ) 370
T AN EE 73 15 88 ( 44 44 ) 36.5 7 KH XA 75 16 91 ( 47 44 ) 39.0
8 A B 73 9 82 (41 41 ) 365 8l BA 4z 75 10 85 (45 40 ) 400
ot #Il XA 74 13 87 (44 43 ) 375 o BHFE 76 12 88 (44 44 ) 380
100 # g2 74 9 83 (44 39 ) 395 106 &M@ FH 76 17 93 (48 45 ) 395
146 &l —BR 75 13 88 ( 44 44 ) 375 162 B ¥ 76 15 91 ( 49 42 ) 415
126 INE Ets 75 15 90 (48 42 ) 405 1260 A B 76 30 106 ( 59 47 ) 440
1362 = —5A 76 30 106 ( 49 57 ) 34.0 13h =M FHF 77 30 107 ( 51 56 ) 36.0
14 BREE 76 3 79 (38 41 ) 365 146 BAE R 77 10 87 (44 43 ) 390
1567 FR¥A BA=Z 76 15 91 (44 47 ) 36.5 16467 k& Bk 77 8 856 (44 41 ) 40.0
160 BB REARD 76 28 104 ( 51 53 ) 370 166 B ETT 77 14 91 (48 43 ) 410
176 =8 %2 76 9 85 ( 42 43 ) 375 1760 WK &F 77 18 95 ( 52 43 ) 43.0
18hr M B4 76 7 83 (42 41 ) 385 1861 FH L3 78 20 98 (47 51 ) 370
1967 #EHE EE 76 -1 75 ( 38 37 ) 38.5 196 FkH &= 78 6 84 ( 42 42 ) 39.0
20f  eh = 76 4 80 (41 39 ) 390 20k Al R 78 12 90 (45 45 ) 390
2501  HME EfT 76 26 102 ( 55 47 ) 420 2561 S &—BR 80 23 103 ( 52 51 ) 40.5
0 EH AR 77 0 77 ( 41 36 ) 410 30k KL EE 80 9 89 (47 42 ) 425
3561  RE BE 78 9 87 ( 42 45 ) 375 3561 AIEF HE 81 10 91 ( 47 44 ) 420
40k =M EH 78 13 91 (49 42 ) 425 40k #EA EA 82 13 95 (46 49 ) 395
451 AIEF 55BR 79 27 106 ( 54 52 ) 40.5 45061 BE FE 82 16 98 ( 52 46 ) 440
50 WIS BE 80 16 96 (49 47 ) 410 50fr Bk B— 83 21 104 ( 50 54 ) 395
6061 FEA R 82 14 96 ( 50 46 ) 43.0 60 THEF 856 30 115 ( 56 59 ) 41.0
706 MR it 83 30 113 (59 54 ) 440 700 M HE 89 29 118 (63 55 ) 485
8047 HiE BkiE 87 13 100 ( 53 47 ) 46.5

BBE {HEC 93 28 121 ( 68 53 ) 54.0 BBE iR Bk 92 13 105 ( 55 50 ) 48.5
BGE =MW 5K 74 ( 3 38 ) Par 72 A—Ab—h  AR=TL—

BiE(E) 6606 vyard 713 128

Bi(B) 6,237  yard 69.5 123

BiE(&) 5892 vyard 681 119

BEE(%) 5,281 yard 64.9 114

LM% 5281 vyard 701 123

EGR) 4878  yard 67.8 119




